MATHEMATICS,CHEMISTRY AND PHYSICS
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GENERAL INSTRUCTIONS'
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Examinee is directed to read carefully the following
instructions :

1. Examinee must write his/her Roll Number in the
specified box on the top left hand corner of this page.
Answers are required lo be marked only on the
Computerised O.M.R. Answer Sheet which is being
providedtothe examinee.  ©jharupdate.com

2. Besides filling in the Roll Number, the examinee has to
put his/her signature on the Answer Sheet and also fill
other required details like Name, Roll Number,
Question Booklet code, etc. asindicated on the Answer
O.M.R. Sheet, if these details are not filled in by the
examinee, his/her Answer Sheetwill not be evaluated.

3. For each question, there are four alternative answers,
out of which only one is correct. Examinee must darken
the circle of correct option in the Answer Sheet by Black
Paint Pen only.

including 1 page for General instructions and two blank
pages for Rough Work in the last. In case an examinee
receives an incomplete or defective Quéstion Booklet,
he/she should make a request to the Room invigilator
to change the same within 10 minutes of star‘t of the

5. This Question Bookizl contains 150 questlon from
following subjects :

(1) Maths Q. Nos. 1- 50
(2) Chemistry Q. Nos. 51-100
(3) Physics Q. Nos. 101-150

6. Each question carries 1 mark and 1/4 mark will be
deducted foreach wrong answer.

7. In case of any discrepancy between the English and
Hindi versions of any question, the English version will
be treated as final/authentic. ‘

8. Possession and use of electronics devices such as
Calculator, Cellular Phone, Digital Diary, Log Table,
Pager, etc., are restricted during the examination.
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®m 9, Any leaf from the Question Booklet should not be
: detached. After the Examination, Answer Sheet must
- be handed over to the Room Invigilator.
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10. During Examination the examinee will not be allowed to
leave the examination hall till END of the Examination.

11. Examinee can carry Question Booklet once the

Examination is completed. _
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1. An algebraic expression that 1. U 4Ny aoe a9 @ad (6
contains only one term is called: Ug 8l, Feardl &
A) Monomial  B) Binomial A) Aiffma B) fgue
C) Trinomial D) None C) femiffma D) @ 78

©jharupdate.cor
2. The pairs of equations x+2y-5 = 0 2. AR & SIS x+2y-5 = 0 AR
and -4x-8y+20=0 have: . -4x-8y+20=0¢% ‘
A) fgdg |aEE
B) fdeha &1 HAMME
C) oM ©U | T8 T
D) &g FAM T8

3. R ¢ 3x+2ky — 2 = 0 3R
2x+5y+1 = 0 WAMIGR &, o k &I

-]

A) Unique solution

B) Exactly two solutions
C) Infinitely many solutions
D) No solution

3. If the lines 3x+2ky — 2 = 0 and
2x+5y+1 = 0 are parallel, then

HqH R’ 2°
what is the value of k? A) 415 B) 15/4
A) 4/15 B) 15/4 C) 4/5 D) 5/4
C) 4/5 D) 5/4 Yy R
©jHarupdate.com
4. If one equation of a pair of 4. Ffg oty e wHHN @& v
dependent linear equations is gH B UH GHIGRUT -3x+5y-2=0
-3x+5y-2=0. The second equation & | TR AHIERO g
will be:
A) —6x+10y—-4=0 A) —Bx+10y-4=0
B) 6x-10y—4=0 &) Br—llye-i=0
C) 6X+10y—'4=0 C) 6X+10y—4=0
D) -6x+10y+4=0 By Sex®iby A=)
©jharupdate.com
5.  Which of the following. method(s) 5. o wHexvl & & g @
is/are used to find the solution of ey %y 9 8F Mm@
a pair of linear equations foro ffoifRag & ¥ o9 — =
algebraically? fafty /fafa &1 Sy fear swer
2
A) Substitution Method i)/%wm ARy
B) Elimination Method B) S fafyr
_ multinlicati C) shi—7om fafey
C) Cross- multiplication Method o T‘;ﬁ
D) All the above

Page No. 3
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©jharupdate.com
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The =zeroes of the quadratic
polynomial x? + 99x + 127 are

A) both positive

B) both negative

C) one positive & one negative
D) both equal s

The distance of the point P(2, 3)
from the x-axis is

A) 2
B) 3
c) 1
D) 5
The fourth. vertex D of a

parallelogram ABCD whose three
vertices are A(-2, 3),
B(6, 7) and C(8, 3) is

A) (0, 1)
B) (0,-1)
C) (1,0)
D) (1, 0)

The point which lies on the
perpendicular bisector of the line
segment joining the points A(-2, -
5)and B(2, 5) is

A) (0,0)
B) (0,2
C) (2,0)
D) (2,0

©jharupdate.com
If the points A(1, 2), O(0, 0),
C(a, b) are collinear, then

A) a=b
B) a=2b
C) 2a=b
D) a=-b

Page No. 4
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x-31e7 ¥ g P(2, 3) o1 g &
A) 2
B) 3
c) 1
D) 5

Te WHIOR Agyel ABCD @1 e
W D Rrge dF I A(-2, 3),
B(6,7) 3R C(8,3) % &

A) (0, 1)
B) (0,-1)
C) (1,0
Ry (1, @)

Ojharupdate.com

g,

10.

fdg A(-2, -5) 3R B(2, 5) &I fAem
qrel RIS B oid  gAfgISTd o)

Reord fifg 2

A) (0,0)
B) (0,2)
G, 0)
D) (-2,0)

gfy fdg A(1, 2), O(0, 0), C(a,b)

al
A) a=b
B) a=2b
C) 2a=b
D) a=-b

PECE 2022
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12.

13.

14.

15.

©jharupdate.com

If the angle between two radii of a
circle is 110° then the angle
between the tangents at the ends
of the radii is:
A) 90°
g) T

B) # 50°
D) 40°
©jharupd3g

The length of a tangent from a
point A at a distance 5 cm from
the centre of the circle is 4 cm.
The radius of the circle is”

A) 3cm B) 5cm

C) 7Zom D) 10cm

AB is a chord of the circle and
AOC is its diameter such that
angle ACB = 50°. If AT is the
tangent to the circle at the point
A, then BAT is equal to

A) 65° B) 60°
C) 50° D) 40°

©jharup$iate.com

Out of the two concentric circles,
the radius of the outer circle is 5
cm and the chord AC of length 8
cm is a tangent to the inner circle.
The radius of the inner circle will
be

A) 3cm
C) 25cm

B) 4cm
D) 2cm

Two concentric circles are of radii
5 cm and 3 cm. The length of the
chord of the larger circle
which touches the smaller circle
is: ©jharupdate.cq
A) 8cm B) 10cm
G)r 12cm =D). 18cm

11.

te.com
12,

13.

14.

15.

Page No. 5
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If e ga & < et @ 9=
BT BT 110° 2, o forear & R

R e @Rt g BT B R
A)  90° B) 50°
] 70° D) 40°

9 B D5 A 5 WA BT W W TP
fig A ¥ et Y@ &1 @dTg 4 |

%|ﬁﬁ®w%
A) 3¥®  B) 5¥W
c) 7¥h D) 109

AB g @t Sirar & 3R AOC g1
g 39 UHR © f& BT ACB =
50° ¥ | afe AT fdg AT g9 @t
el Y1 €, A7 BAT @RIR &

A)  65° B) 60°
Cc) 50° D) 40°

A W ot ¥ W, AR g9 A
fregr 5 ¥ § 3R 8 WA o9E B
S AC HAR® T e
2| eraR® g @1 fBrear grft

A) 33 B) 43
C) 253 D) 2¥A

3 wafad gal @ B 5
3R 3 AW B | g9 g DI SflaT @

Sar$ Y BIC I Y W HRal &
98 ©

A) 8% B) 103h
C) 123 D)18 =
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16.

i
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18.

19.

20.

©jharupdate.com

b
.

ZA, £B and «C are three angles
of a triangle and 2A/4 + 2B/4 +
2C/5 = 41°, then find the value of

tA+2B=7
A) 120° B) 100°
C) 90° D) 80°

©jharupdate.co
By selling a table for Rs 2700 a
man gets 10% loss and then at
what price (in Rs) should he sell
to gain 330 %
A) 3000
C) 3600

B) 3300
D) 4000

A trader sells two articles for Rs
14784 each. if he gains 12% on
one or and losses 12% on other
then what is the value (in Rs) of
the loss?
A) 300 B) 368
C) 432 D) 498

©jhar
If the radius of a circle is
increased by 25% its area
increased by?
A)  50%
B) 25%
C) 28.125%
D) 56.25%
If 27% of electricity bill is

deducted Rs. 1825 is still to be
paid. How much was the bill?

A) Rs 1437 B)
C) Rs2500 D)

Rs 2536
Rs 1473

m
17.

18.

19.

20.

Page No. 6
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16.

LA, ¢B 3R 2C ts et & &=
P & 3R 2AM4 + £B/4 + £C/5 =
41°, T LA+ 2B =27

A)
C)

120°
90°

B) 100°
D) 80°

Ud Afth BT U A 2700 T H
99 UR 10% @1 g1 el & ar
¥ @ 59 dHa (B H) W 99
a1fey e 5 S 330 Yodr
SICE
A) 3000
C) 3600

B) 3300
D) 4000

b AN & Il BT 14784 %
nfel agell & T W d=ar 8| afe
S¥ Uh a]] W 12% BT A a2l
T aR W 12% B @ B
ar g1 &1 A\ (B W) Fr e
A) 300 B) 368

C) 432 D) 498

pdate.com

I U garaR @ B ¥ 25%
@1 gfg o A & A ST
&b foha wfera ge we?
A)  50%

B) 25%

C) 28.125%
D) 56.25%

©jharupdate.com

afe fer ol & e § 27%
D BS Q1 S g ar apfr o) 1825
T BT IAE BT 91D! & A7 2|
TR™ H el fhaer or?

A) Rs 1437 B) Rs 2536
C) Rs2500 D) Rs 1473

PECE 2022
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21,

22,

24,

©jharupdate.com

T

Two numbers are 50% and 80%
lesser than a third number. By
how much percent is the second
number to be enhanced to make
it equal to the first number ©jharupc

A) 150% B) 60%
C) 30% D) 37.5%

The cost of daily ticket of local
train is Rs 50 and monthly pass
cost is Rs 1125, If | buy the
monthly pass and travel for 30
days in a month then | save?

A)  10% B) 25%
C) 14% D) 15%
©jharupdate.

The price of an article is cut by
36%. To restore its original value
the new price must be increased
by?

A) 56.25% B)
C) 26.47%

36%
D) 45%

Y

A can do a piece of work in 18
days. He worked at it for 12 days
and B finished the remaining
work in 8 days. B alone can do
the whole work in?

A) 16 days
B) 24 days
C) 35days
D) 28 days

21.

ate.com

22,

com
23.

24,

Page No. 7

A WY gE AR e @
qert # 50% iR 80% @9 2|
I A B UES H@ B A
A B fon fead ufea g
YT

150% B)

A) 60%
C) 30% D)

37.5%

A6 31 B e e &1 g1
50 Y0 & AR MRWE T B g
1125 %0 | Al § wRe o=

I AT & aF A b Taa
gnf?

A)  10% B)
C) 14% D)

25%
15%

@1 gfg a1 =nfRy?
A) 56.25% B) 36%
C) 26.47% D) 45%

bjharupdate.com

A fell oM B 18 R § @
HHdAT € S99 12 a9 o faar
MR AY HM B ¥ g faA § qu
fFar| B oder @ @ @1 farey
e & oqx1 B Faar 27

A) 16 fe
B) 24fem
C) 35faF

PECE 2022
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26.

27,

28.

©jharupdate.com

. 25,
A does 2/5 of a work in 9 days

then B joined him and they
together completed the remaining
work in 6 days. B alone can finish
the whole work in?

A) 12/13 days
B) 2/11 days

C) 10days
D) 18 days
©jharupdate.com

4 " 26.
If cos"A — sin"A = x then value of
X is
A) cos’A—1
B) 2cos’A — 1
C) 2cos’A+1
D) cos’A+1

27.

A car is travelling at an average
speed of 72 km/hour takes 9
minutes to travel a certain
distance. By how much should it
increase its speed (in km/hour) to
travel the same distance in 8
minutes?

A) 8 B) 9
c) 7 D) 6

Two cars travel from City A to city
B at a speed of 60 and 108 km/hr
respectively. If one car takes 2
hours lesser time than the other
car for the journey, then the
distance between City Aand B ?

A) 270km B) 324 km
C) 405km D) 216 km

Page No. 8
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A PRt B @ 2/5 9T B 9 fam
¥ &1 fopR B o AT 2 AR g
ey 9w & 6 faF
FATE BRI o & bl B IHI
Fr fpay A & 1 AR Y

A) 1213 &=
B) 2/11 &=
c) 10 f&=
D) 18 faA

afe cos’A — sinA = x @ x &1 4
g

A) cos’A—1
B) 2cos’A—1
C) 2cos’A+1
D) cos’A +1
72 f#A. /g1 @ f\a TR A
Tl g8 Dy PR MREd Q@ T
P ¥ 9 e &1 @y ol g
TE O 8 e W T WA B

fow g o = (AL /He)
fapeeit geri grfr?

A) 8 B) 9

G T D) 6

Ojharupdate.com

28.

Tl BN HHIM: 60 AN 108 fdhaAmex
g Her &1 U ¥ MR A9 TR
B UF Im=T Al & AR T PR
= B A g R A ger A
2 °cl BF IHY od & @ W A
¥ WER B @ g @ g fba
BI?

A) 270km B) 324km
C) 405km D) 216km

PECE 2022
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29.

30.

w
-

32.

33.

©jharupdate.com
1%

A Solid sphere of diameter 7 cm
is cut into two equal halves. What
will be the increase (in cm?) in the
total surface area? ©jharupdat

A) 77 B) 154
C) 87 D) 385

What is the area (in sq cm) of a

rectangle of perimeter 90 cm and
breadth 20 cm?

A) 500
C) 250

B) 400
D) 450

What is the diameter (in cm) of a

sphere of surface area 154 sq
cm?

A) 35 B) 14

Hl 0} ©jharupda

A solid cylinder having radius of
base as 7 cm and length as 20cm
is bisected from its height to get
two identical cylinders. What will
be the percentage increase in the
total surface area

A) 2978
C) 27.62

B) 25.93
D) 32.83

When a dice is thrown, what is
the probability of getting even no.

A) 12 B) 1/3
C) 1/4 D) 2/3

.Page No. 9

29,

£.cCom

30.

31.

e.com

©jharupdate.com

32.

33.

7 UM @ B A M B oA
R AEN e e g g
U aEwa # e gfy (af @,
. %) gl

A) 77 B)
C) 87

154
D) 385

90 AH.H IRM 3R 20 AN e
qTel U AT BT 8r=het (@i A,
A )@ 2?
A) 500
C) 250

B) 400
D) 450

154 9 QAL U &5ha arel Mol
& A QAL T )ar 27

A) 35 B) 14
C) 105 D) 7

7 AMIR B Brem g 20
AR SdrE a1 T A9 o
B IFB AR F fFARE v
3 TS WA A0 9910 W 2 ar

T U &Emhd § fhae wfirerd o
gfe erft '
A) 2978 B) 2593

C) 2762 D) 3283

S U® URT BT W Wil g, ar

TH GET M B wifear @ 27
A) 12 B) 1/3
C) 1/4 D) 2/3

PECE 2022
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35.

36.

37.

38.

©jharupdate.com

A card is picked from a pack of
52 cards. What is the probability
of getting a red card

A) 13

B) 1/4 ©jharupdate.com
C) "y

D) - 2/13

What is the median of 7, 18, 6, 9,
4,15, 21, 146X

A) 145 B) 14

€) 15 D) 16
What is the mode of the given
data?

4,3,713,16,23,3,4,7,4,3,3,
96,96

A) 9 B) 4
c) 3 D)6

sinA = 24/25 then find the value
of tanA/cosA

A) TX25/24
B) 24 X 25 /49
C) 24 X7/49

D) 24X25/7

What is the value of cot210°?

A 13 B -143
c) 43 B /3

Page No. 10

©jharupdate.com

34.

48,

36.

@jharup}‘jate.com

37.

38.

52 T & Ul B UD Udbe W T
qqr fyerer STar 81 A B

firery &Y ifiedar & 8
A) 13

B) 1/4

Gy

D) 213

7. 18, 6, 9, 4, 15, 21, 14, 26 Bl
AT a1 87

A) 145 B) 14
c) 15 D) 16

%Q-W%j@?ﬂ P gD 9T &7

4,3,7,13,16,23,3,4,7,4,3, ©
3,9,6,9,6 ]
A) 9 B) 4 f;"‘_
c) 3 D) 6 =
®
o
@)
3

sinA = 24/25 4T tanA/cosA &1 AT
fAraTet

A) T X25/24
B) 24 X 25 /49
C) 24 X7 /49

D) 24X25/7

cot210° BT HF T 87

A 13 B) -1/43
C) A3 D) -43
PECE 2022
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NN

42.

43.

©jharupdate.com

B

©jharupdate.com

Each interior angle of a regular
polygon is 120 degrees greater
than each exterior angle. How
many sides are there in the

polygon?
A) 6 B) 8
C) 12 D) 13

39.

©jharupdate.com

The graph of the polynomial p(x)
= 3x — 2 is a straight line which
intersects the x-axis at exactly
one point namely

A) (-2/3, 0)

B) (0, -2/3)

C) (2/3, 0)

D) 2/3,-2/3

The graph of the polynomial ax? +
bx + c is an upward parabola if
A) a>0 B .a<0

C) a=0 D) None

©jhar

If the sum of the zeroes of the
polynomial f(x) = 2x* — 3kx? + 4x
—5is 6, then the value of k is

A 2 B) 4

C) -2 D) -4

A quadratic polynomial whose
sum of the zerces is 2 and
product is 1 is given by

A) x2-2x+1

B] #+2x+1

C) x*+2x-1

D) x*2-2x-1

Th g 9gqe @1 Il
FARE PV UAE dEN BT A
120 f&M 1o gram 21 9gya A
fal gormyd gl 87

A) 6 B) 8
C) 12 D) 13

40. TS p(x) = 3x — 2 FT AT TH
Al X1 § ST x—31&T BT Sd T
fdg W wftesy B €, Al
A) (-2/3, 0)

B) (0, —2/3)
C) (2/3, 0)
D) 2/3,-2/3

41. 98U ax? + bx + ¢ P AT HW
B AR WIAT BT & A
A) a>0 B) a<0
C) a=0 D) @ &

Ipdate.com

42. I 98U f(x) = 2x° - 3kx2 + 4x - 5
gsﬁm‘fzﬁrmeaa‘rkzﬁrm
A) 2 B) 4
G) 2 D) -4

43. v fgurd 9gus Rraer et @

AT 2 & AR B 1 2, s
gR1 fear o @
A) x2-2x+1
B) x2+2x+1
C) x2+2x-1
D) x2—-2x-1

Page No. 11
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45.

46.

47.

48.

©jharupdate.com

The sum and the product of the 44.
zeroes of polynomial 6x* — 5
respectively are

A) 0, - 6/5 ©jharupdate.con

B) 0, 6/5

C) 0, 5/6

D) 0, —5/6

If a =10 and d = 10, then first

four terms will be:
A) 10, 30, 50, 60
B) 10, 20, 30, 40
C) 10, 15, 20, 25
D) 10, 18, 20, 30

Which term of the A.P. 3, 8, 13, 48.

18, ... is 787
Ay 2%
B) 13"
c) 15"
D) 16"

If the 2nd term of an AP is 13 and 47.
the 5th term is 25, then its 7th

term is
A) 30
B) 33
C) 37
D) 38

fa+b+c=9andab+bc+ca=

23, then a’ + b2 + ¢ =
A) 35

B) 58

Cc) 127

D) None of these

©jharupdatg.com

45.

agqasxﬂ—56%3131?5‘f'cﬁﬂfm
3R TTOrTHe HE ®

A) 0, —6/5
B) 0, 6/5
C) 0, 5/6
D) 0, — 5/6

gfe a =10 3Rk d = 10, @1 Ued

IR 9g 81

A) 10, 30, 50, 60
B) 10, 20, 30, 40
c) 10,15, 20,25
D) 10, 18, 20, 30

)

!

AP. 3,8, 13,18, ... ® @1 AT U

=g
78 &7 =
A) 12 df g
B) 13 af =
C) 15 df g
D) 16 df =

Ife ffl AP &7 T g 13 © 3R
5df Ug 25 €, A1 g9l 74 US ©

A) 30
B) 33
C) 37
D) 38

©jharupdate.com

48. Tl a+b+c =9 3R ab+bc+ca = 23,

Wal+bi+cl=

A) 35

B) 58

c) 127

D) 3 W ?Ig

Page No. 12
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49.

50.

©jharupdate.com

©jharupdate.com

In figure given below, the number

49. #r § T My #, TEUS f(x) B
- <

of zeroes of the polynomial f(x) is YD DGR B
AY AY
g | Qe
©jharjupdate.com ,
1'Y' ‘FY
A) 1 B) 2 A) B) 2
C) 3 D) None C) D) =% T

A system of three linear
equations in three variables is
inconsistent if their planes

A) intersect only at a point

B) intersectin aline
C) coincides with each other

D) do notintersect

©jharupda

e.com

Page No. 13
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o1.

52.

53.

54.

55.

56.

©jharupdate.com

.
| ﬁ?ﬂq
s 'CHEMISTRY AT
Which of the following represents 51. sﬂ“ff & B A g% et
the solubility of sugar in water at 25°C O qqerd
25°C A) 219M B) 204 ymq
A) 21 gm B) 204 gm C) 379MW D) 164 I
C) 37 gm D) 164 gm ©jhar{ipdate.com
Which of the following are physical 52. &8 A &4 Hifds aRads 8
changes A) <reT &1 faeerr
A) Melting of iron metal B) @&l ¥ W oAl
B) Rusting of iron metal C) oeT B PY AreT
C) Bending of iron 3 '@ '
D) More than one D) B
The law of conservation of mass 53. @A WRET BT Niglq &2 T o
was given by A)  STeeT g1
A) Dalton B) uRe gwI
B) Proust C) <maTaR gRT
C) Lavoisier D) wRfuiferaw grr
D) Berzelius
©jharupdate.com
In water the proportion of Oxygen 54. o1 H Sffaiior R TTEROE @l
and Hydrogen by mass is 3T ®
A)1:4 B)1:8 A) 1:4 B)1:8
C)4:1 D)8:1 C) 4:1 D)8:1
The ratio of moles of atom in 12 55. 12 3w ARy T 16 UM geR
gram of Magnesium and 16 gram of URHIY BT Arel ST
Sulphur will be s
A) 3:4 B)4:3
C)1:1 D) 1:2 ' '
Which of the following has the 56. T 9 fue WA A wew wEw
maximum number of atoms g
A) 18 gm H,0 A) 18 M H,0
B) 18 gm O, B) 18 7m0, P
C) 18 gm CO, C) 187mM CO,
D) 18 gm CH, D) 18 MM CH,

Page No. 14
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57,

58.

59.

©jharupdate.com
(o]
o

61.

62,

©jharupdate.com

An atom is

A) (+)vely charged
B) (-)vely charged
C) Neutral

D) None of these

Which of the following is the correct
electronic configuration of sodium
A) 2,8,1 B) 8, 2,1
C)2,1,8

The first model of an Atom was
given by

A) Neils Bohr

B) Rutherford

C) J.J. Thomson

D) Goldstein

. Electron was discovered by

A) J.J. Thomson

B) Neils Bohr

C) Chadwick

D) Goldstein ,
©jharupdate.com

Elements having same atomic

number but different mass number is
known as

A) isobar

B) Isotope

C) Isotone

D) None

The atomic number of four elements
A, B, C and D are 12, 13, 15 and 3
respectively the elements which
cannot form a cation is
A) A B) B
C)C D)D

Page No. 15

T

58.

D)2,8,2 @jharupdate.com
59.

60.

61.

62.

URHTT] BT &
A) HATHG
B) TS
C) SaEM
D) T & @IS TEl

AfETH F1 & Fodgie A= 2

A) 2,8, 1 B) 8, 2, 1
g) 218 D) 2, 8,2

URATY] HT W Ared fhae fear e
A) Hred AR

B) XIS

C) . . oJwad

D) TMesw™

golded BT ANfawpR faar o
A) S 1. A

B) e aR

C) drefa®w

D) e

™ @ e @ T HH
W TAAM  HE T Bl R
FHEAT & '

R\ ST

B) amgweM

C) 3JmgdrRH

D) M A #1¢ &

T A, B, C TUT D &1 WRATY |&T
HAL: 12,13,157d 38 ad o1 &

Cation T8I a9 & &
A) A B) B
C) C D) D

PECE 2022
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65.

- 66.

67.

68.

69.

©jharupdate.com

The number of valence electron in a
Sulphide ion $¥is

A) 16 B) 10

C)9 D)8

©jharupdate.com

Elements having valency
A) Always metal

B) Always non metal
C) Always metalloid

D) Either metal or nonmetal

Which of the following is an ionic
compound
A) CO,
C) H,0O

B) HCI
D) KCl

Which of the following is Sodium
Peroxide
A) H,0,

B) N3202
C) Na,0

D) Al O,
©jharupda

Which of the following contains polar

covalent bond

A) CO,

C) Nazo

B) H,0
D) MgO

An element which is an essential

constituent of all organic compounds
belongs to
A) Group 1

B) Group 14
C) Group 15

D) Group 16

Which one of the following elements
exhibit maximum number of valence
electron
A) Na
C) sl

B) Al
D) P

63.

64.

65.

66.

.com
67.

68.

69.

FohTgS I (S%) HAISTh

Tl P 6T ©
A) 16 B) 10
C) 9 D) 8

o dadi &) FaTadl gode™ TE
BT

A) U Ug BT '

B) g & @

C) SUur] 8T &

D) dTq a1 3Tg BT ®

3 ¥ B9 Iafae Afe &

A) CO,
C) H,0

B) HCI
D) KCI

T 9 B AT RiewEs @
A) H202 B) rNazoz
C) Nazo D) A'z 03

woo alepdnieyle

T W R e ¥ i
HeHAoTh 94 2
A) CO,
C) Na,O

B) H,0
D) MgO

Page No. 16
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g

72,

73.

74.

75.

76.

" ©jharupdate.com

Which of the following elements has
the largest atomic radii
A) Na B) Mg
C)K D) Ca
) ©jharupdate.c

The general formula of Alkane is
A) CnHZn'*2

B) CnHzn

C) CnHan2

D) None of these

Functional group of Aldehyde is

A) -CHO B) -COOH
C) -OH D) -O-

Alkene is also known as

A) Paraphene B) Olephene
C) Both D) None of these

The ores of Aluminum is
A) Bauxite

B) Cinebar

C) Zinc blend

D) None of these

An element reacts with oxygen to
give a compound with high melting
point this compound is also soluble
in water the element is
A) Ca B) C
C) Si D) Fe
©jharupda

Which of the following pairs will give
displacement reaction

A) NaCl solution and copper metal

B) MgCl; solution and Aluminium metal
C) FeSO; solution and silver metal

D) AgNO; solution and copper

Page No. 17

©jharupdate.com

70.

71.

72.

73,

74.

75.

e.com
7B.

©jharupdate.com

T A P9 d@ & wE Boa
e ®

A) Na B) Mg

C) K D) Ca
Todhd & M 9F &

A) CnH2n+2

B) C.Hs

C) CnH2n-2

D) 3™ d FI5 T2
vfessrge &1 fraredia g &
A) -CHO B) -COOH
C) -OH D) -O-
TedhI| ST ST &

A) R B) affeifth
C) <M D) &8 &l
T | DI AT BT IR ®
A) diarge

B) fmar

C) o =Is

D) % & &1 7E

s Uferde aifedo & wfafear &%
UH difa a1 ® R gaqie 9=

BT & 3R 9 ¥ geree € a@
A) Ca B) C
C) Si D) Fe

T A B W g fRemes wfafea
ChI
A) NaCl &1 €11 3R qmar g

B) MgCl, ®1 ¥l 3iR Tegiifyam
C) FeSO, @1 a3k =fdY srrg'mg

D) AgNO; &7 I 3R T o7

PECE 2022
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78.

79.

80.

81.

82.

B

©jharupdate.com

Compound having same molecular
formula but different structural
formula is known as

A) Isomerism . B) Isotope
C) Isobar D) Isotone

The I.U.P.A.C. name of the following
compoundis CH; -0 - C;Hs

A) Methoxy Ethane

B) Ethoxy Methane

C) Methoxy Propane

D) None of these

The compound which takes part in
the addition reaction is
A)H-C=C-H
B) CH4
C) CzHs
D) C3Hg

©jharupdate.com
Which of the following is Vinegar

A) CH;COOH
B) HCOOH
C) C¢HsCOOH
D) C¢HsOH

Soaps are prepared by alkaline
hydrolysis of

A) Salts

B) Carboxylic Acids

C) Esters

D) Alcohols

The cleansing action of soap will be
most in the water obtained from the
source
A) Tap
C) Well

B) Rain
D) Hand pump

Page No. 18

©jharupdate.com

©jharupdate.com

77. U Afre Rrgar ifdd & FAH

78,

79.

80.

81.

82.

TRq EREAT G AT & eIl ©
A) EEmReA  B) ATgHICY
C) 3IMgHER D) 3gHIeH

f=fafRaa dfis @71 1.U.P.A.C Name
2 CH;-0O-C,Hs

A) et 3299

B) geftaeft e

C) R wa=

D) 3% & @13 el

Afres & arrefrer ufafssar § yrr
A B AT ®

A) H-C=C-H

B) CH,

C) C.He

D) CsHg

I A B AR @
A) CH,COOH

B) HCOOH

C) Cg¢HsCOOH

D) CgHsOH
©jharupdate.com

AT Tehellsd  BIggloNsiad gRT
AT ST ©

A) 9Iee g1

B) wmifddfers and gRr

C) IR ENT

D) 3fchled gRT

f6e 91T 3 T STt @ gIRT WigH
&RT 9%Ts e ¥ 2y &

A) T B) auf

C) aif D) &5 vy

PECE 2022
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83. During the process of soap
formation the by-product formed is

A) Glycol B) Glycerol
C) Glucose D) Glycogen

84. Hydrocarbons are

A) Insoluble in water

B) Composed of carbon and hydrogen
C) Both Aand B
D) None of these

85. Which of the following compounds
on hydrolysis gives Acetylene

A) CaC,

B) Al,C;

C) Cu,Cl,

D) None of these

86. The I.U.P.A.C. name of Acetylene is
A) Ethene B) Ethyne
C) Ethane D) None of these

87. On hydrolysis of Aluminium Carbide
the gas formed is
A) Methane
C) Butane

B) Ethane
D) None of these

88. When Ethylene reacts with hydrogen
in presence of Ni catalyst then
A) Ethane gas is formed
B) Butane is formed
C) Acetylene is formed
D) None of these

5 Page No. 19

©jharupdate.com

83.

84.

83.

86.

ar.

88.

©jharupdate.com

Trg fafor wfisan 3§ I deee a9 @
A) TATEPIA B) Re=ia
C) IS D) TegPIST

EESIEICR RS

A) WA H Fgaeid

B) @49 R gz § 99 B §
C) < (A) 79 (B)

D) T & ®F T

3T W B e AgHor gIRI
vfifees 3 <ar g

A, CaC.

B) WKI,C,

C) CUzClz

D) s A B8 &

URIfee™ I.U.P.A.C &R &
A) T B) surgA
C) 3 D) ¥ & @1 &

TAITH STaigs & Wellgaxor o
I aear @

A) o B) o
C) A D) 57 A B &

S1a gel T el @) Sufefy +f
BTSQIoA A Hfafhar o=ar & )
A) 399 N e &

B) @ a7ar &

) Rl awar &

) T BIS el

Q

D
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L

89.

90.

2.

92,

93.

94,

NaCl crystal is made up of

A) NaCl Molecule

B) Na* and ClI ions

C) Na and Cl atom
)

D) None of these _
©jharupdate.com

If the temperature of an object is
268K then it will be equivalent to

A) -5C B) +5C

C) 368 C D)-25C

Which of the following energy is
absorbed during the change state of
substance

A) Specific heat

B) Latent heat

C) Heat capacity

D) Heat of solution

During the summer days water kept
in an earthen pot becomes cool
because of the phenomenon

A) Diffusion

B) Transpiration

C) Osmosis

D) Evaporation

The correct sequence of converting
25°C, 38°C and 66°C into Kelvin
scale is

A) 298K, 311K and 339K

B) 298K, 300K and 338K

C) 273K, 278K and 543K

D) 298K, 310K and 338K

©jharupdat

Which of the following is not an

- element
A) Graphite B) Germanium
C) Silica D) Silicon

89.

2.CoOMm
94.

90,

o

8.

93.

©jharupdate.com

NaCl @l ¥ar 91 81T &
A) NaCl 3 gRT

B) Na’ 3R CI 3 &I
C) Na 3R Cl WA &R
D) STH & FIS el

afe fopedt a&q &1 araHE 268K ® o
TE dRTER BT
AYPSS§C

C) 368°C

B) +5°C
D) -25°C

argeerr uRadq # Y ueref grr
JINT BT TS ol &

A) faf¥re Sor

B) Y@ I

C) B U

D) He &I S

Urer o1 H °eT H T g 9T &
T & fhe RoT 9§

A) =T

B) g

C) TRTERYT

D) arsiToiA

25°C, 38°C 3R 66°C & dedd Wd
% URac & BT T8 B 2

A) 298K, 311K 3k 339K
B) 298K, 300K 3k 338K
C) 273K, 278K 3R 543K
D) 298K, 310K afiv 338K

T 9§ B a8 B
A) UBIse B) wHfam
C) faferamr D) fyfera

Page No. 20
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95. Which one of the following is not a

metalloid?
A) Boron B) Silicon
C) Gallium D) Germanium

96. Which of the following are ©

compound
A) CO B) Co
C) NO D) More than 1

97. One of the following substances is
neither a good conductor of
electricity nor an insulator. This
substance is

A) Chromium
B) Germanium
C) Gallium

D) Potassium

98. Which one of the following is not a
chemical change

A) Formation of curd

B) Ripening of Banana

C) Sublimation of naphthalene
D) Corrosion of photoframe

©jharupdate.com
99. Which of the following can be called
as suspension
A) Milk
B) Milk of magnesia
C) Salt solution
D) Vinegar

100. One of the following represents the
solution of the solid in a solid

A) Boron B) Brass
C) Beryllium D) Bread

No. 21
:

©jharupdate.com

©jharupdate.com

95. 3% ¥ W Acdize T8l ©
A) IR B) fferd=
c) difermw D) STAfTaH
©jharupdate.com
96. T ¥ P AP ©
A) CO B) Co
C) NO D) t& J 3ferd

97. TTH | B A fdega &1 3o

JATAS AR FATAD ©
A)  wifEm
B) SHfIH
C) Tiferam
D) urefmm

98. 3TFH ¥ @9 Uh IS aRacH
T8 '
A) & BT g1
B) @& &1 UHAT
C) AHACIH &1 SEAUTTA
D) WISl HH H ST ST

99. T Y B TR BT qhaT |

A)
B) #=IRmm &1 ffew
C) ¥HG B Elal

D) fo R
100. 39H ¥ B9 o ¥ S &1 U1
A) arRHE B) Uit
C) wRferam D) 3
- PECE 2022
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L:.I I'

Hifae fasme

101. 50 fFaRM™ SHHMA BT ASHI

PHYSICS

101. A boy of mass 50 kg is standing

on ground exert a force of 500N
on the ground. The force exerted
by the ground on the boy will be

e H @eT ® S SS9 WX 500N
BT g ol & HeF ERT Sl
TR T AT 9 &

e N e 8 00
©jharupgate.com C) 10=ed D) 500 e+
102. The acceleration produced by a )
force of 5N acting on a mass of 1020 Ngg 3 ERT 20 g K i
20 kgin ms?is I TR S TR GRS H g
A) 4 B) 100 A) 4 B) 100
C) 0.25 D) 2.5 C) 0.25 D) 2.5
103. According to Kepler's laws of 103. @R & T&l @ T @ Rigia &
planetary motion is ITEAR
A) PxT’ B)r«T? A) PxT® B)ru«T?
C) T D) «1T? C) PxT?  D)r«lT
104. The weight of an object at the 104. R ot & gl B B W T T

center of the earth of radius R is
A) Zero

R 2

B) Infinite A) W
C) R times of the weight at the B) 3
surface of the earth C) Yl &I |A® AR AT

D) None of these D) % ¥ P13 &

105. Which one of the following is not 105. 37 & P Sort &1 w=F T8 2
the unit of energy A
A) Joule B) e
B) Newton-meter .5
C) Kilowatt C) fadrare _
D) None of these D) & & oIg e

106. How much energy does a 100W 106. 100W &1 fag[a 9 1 fime #
electric bulb transfer in 1 minute fha ot aRafda wxar &
A) 100J A) 100 e
B) 600J B) 600 W&
C) 3600J ©jharupdate.dqom C) 3600 3@
D) 6000J D) 6000 S

:

©jharupdate.com
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107. When an object Falls freely

107.

©jharupdate.com

e PE TR W@ad w0 ¥ eRdl W

towards the earth, then its Total AR & a1 39 B Sl
energy “ A) dgdr 2
g) l[r)lcreases ©jharupdafe.com B; ' N

) Decreases C) fer Ed 2

' C) Remains constant

D) ugd ¥l ¥ 3R a1g A gedl ©

D) First increases and then
decreases
108, WHR % & ANT IUANT Fd 8

108. pl‘n Sall\tlAR we use A) Combies

B) | frason]c waves B) % v S

C)) gagzovrlgv\gsa . ) 2 TR

stageafy ava

D) Audible sound waves D)
109. Which kind of sound is produced 109. @Y & FFY fdy axe H-@f

in earthquake? I~ BRI B

A) Ultrasound A) IENSS

B) Infrasound B) IWRISS

C) Audible sound C) srar eafy

D) None of these D) T q B T
110. One of the following can hear 110. 7% | TS 3T AISS B G

infrasound this one is [qhar & I ©

A) Dog A) @

B) Bat B) dAHTICS

C) Humans C) #rd .

D) None of these D) T W ®Ig 7T

©jharupdgte.com

111, At 20°C the minimum distance of 111, 20°C T W wfafy @1 g

a person from a sound reflecting
surface to hear an Echo is
A) 12.2m B) 17.2m
C) 15.2m D) 34.4m

o forg ffY aafts & &9 @ &w
0 g =ifee

A) 122%R B) 17.2 9%
C) 15.2 X _D) 34.4 A}

Page No. 23
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L | .:

" - .

112, When we change feeble sound 112. w@ = afy &1 9= @af 3
to a loud sound we increase its uRafda swva € a1 89 & 9er €
A) Frequency A) amgfa
B) Amplitude B) Jmam
C) Velocity C) d
D) Wavelength D) X &

©jharupdate.com

113. The value of 'g' on the surface of 113. 'g" &1 A =SAT P FAE W
moon BIaT ®
A) Less than that on the earth - A) g B AdE F HA
B) More than that on the earth B) U &1 wds ¥ wTaT
C) Is more than the earth C) 9 ¥ Sdrar
D) None of this these D) T ¥ B T

114. Which of the following relation is 114. 399 ¥ @7 |1 Gay 9 &

correct- : A) g=GM/R?
A) g=GMR B) g=R%GM
B) g=RYGM g
C) GM/R
C) GM/R D) R/GM
Clnarupdaate.com
115.  The value of 'g' is maximum at 115. 'g" &1 7F e Sar
A) Atpole
B) Atequator A) TIw
C) Both S SRR
D) None of these 8; j_j; j;_ﬁ_&‘ -
©jharupdate.com
116. Which one of the following 116. o9 T & o9 1 yeref o7
material cannot be used to make ST & frar ot @
alens
A) Water g; g
B) Glass
C) Plastic C) efives
D) Clay D) =

Page No. 24
B PECE 2022

©jharupdate.com ©jharupdate.com




©jharupdate.com ©jharupdate.com

™ "
117. Which the following lenses which 117, 3@ uga @ forg amy g0 &
would you prefer to use while fOhT T HT wAnT HET
reading small letters found in a
dictionary ; )
A) A convex lens of focal length A) ST T BIBHIR 50 HA.
30 e B) facel o WIHHICR 50 WAL,
B) A concave lens of focal
length 50 cm C) IO« o BIHHANR 5 WA,
C) A convex lens of focal length ' .
) 5cm ° D) eadd o B 5 A
D) A concave lens of focal
length 5 cm
©jharupdate.com
118. The lens formula is 118. o9 9 &
A) 1v-1u=1/f A) v & 1u=1/f
B) 1nv+1u=1/f B) 1/v+ 1/u=1/f
C) viu=1/f C) viu=1/f
D) Noneofthese D) T ¥ ®Is -TEl
119. The least distance of distinct 119. T ¥y afe & fog e
vision for a young adult with @ AT W B '
normal vision is about A) 25%R  B) 2.5JH.
A) 25m B) 2.5cm
C) 250m D) 2.5m C) 259#. D)2.5%ex
120. The human eye forms the image 120. T a=q &1 wfafde wa o
of an object at its q T ©
A) Cornea  B) Iris A) oiffar  B) smsRa
C) Pupil D) Retina C) =@ D) ¥
©jharupdate.com
121. Magnification produced by a rear 121. &1 H & T araee 9eqe
view mirror fitted in vehicles HRT 2
A) Isless than one A) TH 9 39
B) Is more than one B) & ¥ wrer
C) Is equalto one C) U& & xR
D) None of these D) ¥4 @ &8 =i

B Page No. 25
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"

122,

123.

Com

"

If your image appears erect the
mirror is likely to be

A) Plane

B) Concave

C) Convex

D) Either Plane or Convex

jharupd wﬂf'\ com
123,

Which part of the eye can be
donated after death

A) Cornea B) lIris

C) Pupil D) Retina

124. The image formed on retina is

12